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Pourcentages de nombres ( nombre manquant )

x40% = 12.8
x70% = 3.5
x20% = 1.8
x20% =11.6
x20% = 1.6
x 90% = 63

x 50% =2

x 60% = 20.4
x40% = 14.4
x 90% = 82.8
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Date:

x 80% = 45.6
x 90% = 18
x 90% = 72

x 10% = 0.9
x 30% = 25.8
x 50% = 44

x 80% = 11.2
x 80% = 12
x 50% = 4

x 90% = 76.5

Note:
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@ %ﬁ ‘éj w Pourcentages de nombres ( nombre manquant )

Nom: Date: Note:
32 x40% = 12.8 57 x 80% = 45.6
5x70% = 3.5 20 x 90% = 18
9 x20% = 1.8 80 x90% = 72
58 x20% = 11.6 9x10% = 0.9
8x20% = 1.6 86 x 30% = 25.8
70 < 90% = 63 88 x 50% = 44
4 x50% = 2 14 x 80% = 11.2
34 x 60% = 20.4 15 % 80% = 12
36 x40% = 14.4 8x50% =4
92 x90% = 82.8 85 x90% = 76.5
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